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EXPRESIONES ALGEBRAICAS 123 
 

1 

Problema 123: 

Simplificar: 

𝐴 = ൬√1 + 𝑥 −
1

√1 − 𝑥
൰ : (−

1

√1 − 𝑥ଶ
+ 1) 

Solución Problema 123:  

𝐴 = ൬√1 + 𝑥 −
1

√1 − 𝑥
൰ : ൬−

1

√1 − 𝑥ଶ
+ 1൰ = ൬√1 + 𝑥 −

1

√1 − 𝑥
൰ : ൬1 −

1

√1 − 𝑥ଶ
൰ 

= ቆ
√1 + 𝑥 · √1 − 𝑥 − 1

√1 − 𝑥
ቇ : ቆ

√1 − 𝑥ଶ − 1

√1 − 𝑥ଶ
ቇ =  ቆ

√1 − 𝑥ଶ − 1

√1 − 𝑥
ቇ : ቆ

√1 − 𝑥ଶ − 1

√1 − 𝑥ଶ
ቇ = 

=  
√1 − 𝑥ଶ

√1 − 𝑥
= ඨ

1 − 𝑥ଶ

1 − 𝑥
=  ඨ

(1 + 𝑥) · (1 − 𝑥)

1 − 𝑥
=  √1 + 𝑥 

𝐴 = ൬√1 + 𝑥 −
1

√1 − 𝑥
൰ : ൬−

1

√1 − 𝑥ଶ
+ 1൰ = √1 + 𝑥  

 

 

 

 

 

 


